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SECTION - |
PHYSICS & CHEMISTRY

1 The voltage gain of an amplifier with 9%
negative feedback is 10. The voltage gain
without feedback will be
(A) 10 (8) 1.25

(©) 90 (D) 100

2 The oxidation number of cobalt in
K[Co(CO),]is
(A) +3 (8) +1

© -3 (o) —1

3. The vacant space in bec lattice cell is
(A) 26% (B) 48%

(0 32% (0) 23%

< A planet moving along an elliptical orbit is
closest to the sun at a distance 1, and
farthest away at a distance of r,.If v, and

v, are the linear velocities at these points

avg - |
e g vd waT s
9 % WONeTs AMdY B W TP

anad® @1 deear oy 10 Bar & | fae
qafidw & dieear o @

(A) 10 (8) 1,25

(€) 90 (D) 100

K[Co(CO),] H @l (Co) @t
aifRAHIoT @ B

(A) %3 (8) +1

() —3 (D) -1

bec eid Ve # Rag w4 &l &
(A) 26% (B) 48%

(@ 329% (D) 239

qd&?aﬁaﬁkugfréqmwam
§ R @ ¥ gAad g p, O
aﬁ?ﬁlﬂﬁ s %,qqm%luﬁ's?
fvgell w® &Y 9 wERE oy, @y,

. . Vi
respectively, then the ratio of o is § g9 Ej &7 AT 2
(A) 1 (B) (I‘_Z)Z w B i o2
& Iy r (;;)
L (r_1)2 Wy 22 ©  [rp)? o) T2
& B &) r
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A thin rod of length L and mass M is bent at
its midpoint into two halves so that the
angle between them is 90°. The moment of

inertia of the bent rod about an axis passing
through the  bending point  and
perpendicular to the plane defined by the
two halves of the rod is

() ML ® ML
6 24
@ ML © vz o,
12 24

A boy standing at the top of a tower of 20 m
height drops a stone. Assuming
g = 10m/s?, the velocity with which it hits

the ground is
(A) S m/s

() 20 m/s

(B) 10 m/s
(D) 40 m/s

An aeroplane is moving with 80 km/hr
speed in North-West direction, while air is
blowing at 60 km/hr in North-East direction.
What is the actual velocity of plane ?

(A) 40 km/hr (8) 20 km/hr

() 140 km/hr (D) 100 km/hr

Volume of H, gas occupied by its one gm

equivalent at STP is

w e T & | gu 5@ g v F A
A @ areht @om g6 gl S @
A ur ¥ A ¥ araad dE B
LIEG B B B -
(A ML? (8)  MIL?
6 24
© M2 © vz
= gz ML

TF dedl fht 20 AR At AR
1% TR R € | e @R H
T g—10#/3% T | TR T W

f&g I A THRW 2

(A 5 LR (8) 10 #HLAR.
© 20 H.A. (D) 40 #ALA.
Th  gdTgWiEr 80 fhdfi/der &

SR-REH &9 § IS @ & T 417 60
e /der & v ¥ Sov-yd fRenm § 9=
E T | Ve B arfad i 8 Rf

(A) 40 for.#t/gver  (8) 20 f&b.#./gver

(© 140 f&M/guar (©) 100 f&.Hrrgver

TS N & AM$ 99§ W TS
I FAgAID BT AT B

(A) 1.0 litre (8) 22.4 litre (A 1.0 . (B) 22.4 1.
(© 11.2 litre (D) 5.6 litre © 1.2 o () 5.6 fl.
The circuit is equivalent to gRue WHged &N
¢ Y

" B
B ¥ NOR NAND  NOT

NOR NAND  NOT (A) AND gate (B) OR gate
(A) AND gate (8) OR gate (© NOR gate () NAND gate
(C) NOR gate (D) NAND gate
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1

12

13

| f-a' is the length of side of a cube, the
distance between the body centered atom
and one corner atom in the cube will be

w 2 ® 3
oo —a
\ 2

@ |3 © 4
3 V3

In an uniform electric field one oil drop of
0.002 miligram mass and 6 electronic charge
is stable in air. What will be intensity of
electric field ?

(A) 204 x 10'°N/C
(8) 204 x 10% N/C
(© 204 x 10°N/C
(D) None of these

The oxidation state of Fein Fe; 0, is

(a) 8 (B) +6
3

© +3 ©) +2

The IUPAC name of

CH; —CH-CH=C-CHO

is
OH  CH,
(A) 2 - hydroxy - 4 - methylpent-3-en-5-
al

(B) 2 - hydroxy - 3 - methylpent-2-en-5-
al

(€) 4 - hydroxy - 1 - methylpentanal

(D) 4 - hydroxy - 2 - methylpent-2-en-1-
al

10

1"

12.

@ o AR s g B e

&) w b Fw WA A T PH W
Rerg qeamop @ g4 BN

(A) iq 8 3
5 25
(©) v’j (D) ~4—a
i «3‘
0.002 fiefimd  wamwE  dleft T 6
e & IRY A IR TP dd @ 4%

(A}  2.04 x 10*°N/C

8) 204 x 10% N/C

(© 204 x 10°N/C

(D) TEH | Pig TAel

Fe,0, ¥ Fer @ SaRAGOT Jfawe 2
() 8 (B) +6
3
(€ +3 (D) +2

13 fre #7 S MU, 9 B

ChH; ~—CH—CH=C|*CHO

OH CH;
(A) 2 - grEgIET - 4 - AR U - 3 -
39 - 5 - 3

(B 2 - EEQIEN - 3 - IRVA ¥= - 2 -
39 - 5 - 3

@ 4 - gEREE - 1 - ARAA IAA

©) 4 - TEFRT - 2 - AT I=< - 2 -
S -1-3d

Page:4



15

16.

18.

. The ratio of radius of gyration of a circular

disc to that of a circular ring, each of same
mass and radius, around their respective
axes is

@ 2:1 B V3: 42

@ V2:43 © 1:42

What is the maximum numbers of electrons
that can be associated with the following set
of quantum numbers ?

n=3,l=1landm=-1
(A) 6

€ 4

(8) 2
(D) 10

The number of carbon atoms per unit cell of
diamond is
(A) 6

(8

(8) 1
(D) 4

. The number of water molecules is maximum

n
(A) 18 molecules of water

(8) 1.8 g of water

(€) 18 g of water (D) 18 moles of water

In measurement of radius of a sphere,
percentage error is 1%. What will be error in

14,

15.

16.

18.

FEEE IR

- Iy aE & ArE oRumer Prewnet @
GRS

W V3:1 |8 JV3:42

© JV2:43 @  1:v2
FqreH W@ 0 =3, =, m=1%
Wy fFan Afiead gaaeE B UHd § 2
(A) 6 (8) 2

€ 4 (D) 10

&R (Diamond) & ¥ gfFe Ad # Fda
AR B G B

(A) 6 () 14
© 8 (D) 4

Siel 3Rl @ AfWHaw I §
(A) gt & 18 IMURH H

(B) 1.8 IH UHT H

© 4¢ M =T § (D) 48 AT U=t A

U&h T & Broar &1 7o J ufoea Jfe

1% BT & | 39 AT A Ffe Bl

volume of sphere ? (A) 39 (8) 19
(€) 7% (P) 5%
Page: 5 534482
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19.

A person of mass 60 kg is inside a lift of mass
940 kg and presses the button on control
panel. The lift starts moving upwards with

an acceleration 1.0 m/s’. Ifg= 10 m/s?

the tension in the supporting cable is

19.

TP 60 kg &1 Afdd 940 kg & forre #
IHR 9d & 97 P JqIT § |
forre Suv @ AR 1_0;3‘/;3,237‘@1“

A 7y gRA FA & | IR [HAT @R
gzloTﬂ./@lz T, a1 fowe & aER

(A) 1200 N (8) 8600 N .

(©) 9680 N (0) 11000 N el SN H TG B
(A) 1200 = (8) 8600 e+
(© 9680 e+ (P) 11000 =

0. Geometry of BFj is 2. B, @ SAIRRG WAxF1 B
(A) trihedral (B) trigonal planar (A) Areaary
(©) pentagonal (D) tetrahedral (8) FafarerR By

(© Geyeig (D) FggEhdADHII
21. If the equilibrium constant for 21. gfg Nog) + Oz = 2NO¢y Ll
N, Oz = 2NO¢ is k, then th ¢
2@ F Do ® % N A Reriw k ¥, @@
equilibrium constant for
1 1
=Ns @) + = 03¢y = NO(,y will be 1 1 N BT AR
2 2@ T3 V2(® @® ENZ(B)+502® = NO)
(A) k (8 1 .
Sk Rerie grm
(A g (B) lk
. -
© k2 D) 42 2
@ k2 (D) k%

22 The first excitation potential of sodium is 2.1 | 22. {ifeay WA $T YIH Soq fQvg 2.1
volt. The maximum wavelength of emitted| dlec & | 30 WHIY] gRT Scaffd TS
light will be P daq aeieed Bt
(A) None of these (8) 6720 A (A) 3 9§ BIE T8 (8) 6720 A
© 49324 (©) 5893 A © 4932 A4 ® 5893 A

2. The ground state energy of hydrogen atom | 22. grggIo WA B 3T JTT P Sl
is-13.6 eV. When its electron is in the first 136 eV & | W9 SUBT IAdSH  TUH
excited state, its excitation energy is IS 3T ¥ B ar S I
(A) zero (8) 3.4 eV St =5 '

(0 10.2 eV (D) 6.8 eV A = (B) 3.4 eV
© 10.2 ev (d) 6.8 eV
Page: 6 534482
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24. A bomb of 25 kg mass moving with 10 m/s|24. 25

S &1 e a5 &1 Ml )
velocity. Bomb explodes and divide into two AR ¥ Iy I @ B, Headx w
pieces of 15 kg and 10 kg. If big piece| # g& waT & | gHSI d FHAA 15
becomes at rest then what will be the . 3k 0o fpm &1 IR &3 W
velocity of small piece ? &1 97 I & @ Bl &1 T BRI
(A) 10 m/sec (8) 15 m/sec (A) 10 HAY, (8 15 #LRY.
(€) 20 m/sec (D) 25 m/sec © 20 H.RA” (0) 25 #.A

2. Two nuclei have their mass numbers in the|2s5. g1 1fY®l & WAV §&AF 1 3 ®
ratio of 1 : 3. The ratio of their nuclei IqUT A & | b ANG °Fd Bl

densities would be TS BRI

1 ) 1 .
W 33 ® 1:1 W 335 ®  1:1
€ 1: 3 (D) 3: 1 (C) 1: 3 (D) Faatd

26. Which of the following is diamagnetic ? % o § ¥ o favw-geag § 2

(A)  He: (® HF (A)  He; (8  Hj
© H; () H, © H; (®)  H,
27. For the valence electron in copper, the four |27. i (Cu) & UdNT® SolggE @ aRI
quantum numbers are FqIq S&T B
(A) 1 (A) 1
n=4,l=—1,m=0,s=§ n=4[l=—-1m=0,s= —
(8) 1 (B) 1
n=4l=0m=0,s= — n=4Il=0m=0,s= —
2 2
(€ 1 () 1
n=4I[=0m=+2,s= — n=4Il=0m=+4+2,s= —
2 2
(D) 1 (D) 1
n=4,£=1,m=+2,s:5 n=4,l=1,m=+2,s=§

Page: 7
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28 The rate equation for a reaction A - Bis
r = K[A]°. If the initial concentration of ‘A’
isa mol dm 3, the half-life period of the

reaction is
W 2

K

2a

©

"4

Which of the following statements is correct
for the spontaneous absorption of a gas?

(A AS is negative and therefore, AH
should be highly positive.
(8)  AS is negative and therefore, AH

should be highly negative.

(O ASis positive and therefore, AH should
be negative.

(D) ASis positive and therefore, AH should
be positive.

In figure, B’ is earthed and‘A’ is kept at
1500 volt. What is potential at ‘P’ ?

s ,;F S uF
A
- B ‘ uF
2 uF
&) 750 volt lll 7500 volt
19 7000 volt (D) 700 volt

a fed afifsar A, p & fordr afifea
av i, _KIMPE:T?TH?.‘MHEI
oy A @ urfvas arEe g A

Al & @ affrar @ anfoftae
®lcl B -
(A) 4 (8) K
K
(€) 2a (D) '(:|
K 2K

o ¥ A B oW wwa el
* W avmer ) yalfa swar & 2

(A) A FOTHE & AT AN FARE
gATHS BT |

(B) A5 FUTHE & I AH Fafr®
HOTHS BT |

© AS G9F & T AH FOTHS
B |

O A H9THS B I AH 99T
g |

o = § B B dt ¥ St @
TAT A B 1500 T TR W@ AT R |

g P W ﬁ'qa 3‘!111
A
3‘i||l
ul 2 uF
(A) 750 qQee (8 7500 Q\ee
© 7000 a\ee ©) 700 Qs
Page: B ;



31. Calculate the energy in joule corresponding

to light of wavelength 45 nm : (Planck’s
constant h = 6.63 x 10734 Js; speed of

light ¢ =3 x10°ms™1)
(A) 442 x 10718 (B) 6.67 x 10'°

© 667 x 10! ©) 442x10°15

- At 10 °C the value of density of a fixed

mass of an ideal gas divided by its pressure
is x.At 110 °Cthisratiois

(A) 383 (8) 283
— x — x
283 383

(© 10 o) x
———

110

. A p-n photodiode is made of a material with
a band gap of 2.0 eV. The minimum
frequency of the radiation that can be
absorbed by the material is nearly

(A) 1 x 10**Hz (B 20 x 10*Hz

(9 10 x 10**Hz @ 5 x 10**Hz

. A silver cup is plated with silver by passing
965 coulomb of electricity. The amount of
Ag deposited is

an.

32,

warer AR axmeedf 45 nm €, Eall
S ¥ et (wie  Fadis
h=663 X103 gma.
mmm&nc=3)(108tﬁ./ﬂ.)

(A 442x1071® (B 667 x 10*°

(C) (D)

6.67 x 1011 442 x 1071°

10°c R &N aredt 1 & v AlRga
S & Ud 9T &4 HI AT

X
g1 110°C W IE IU B
(A) 383 (8) 283
—— % — %
283 383
(c) 10 (D) x
— x
110
T p - n PESARS 2.0 eV 498

FRIA & g ¥ g9 ¥ | T oyt
ERT AR fafevor 5 REaH amghy
ST BRT

(A) 1 x 104 g?,\ﬁ{‘
8) 20 x 101 &
© 10 x 104 &
(D) 5 x 1014 ge\ﬁ

T ek &9 W Reax @A) & R
TeM & ford 965 Fam @ fIe@ warfea
B SR ® | oard @ feaet " S

(A) 1.08¢ (8) 9.89 g Bt 2

(0 107.89¢g (0) 1.0002 g (A) 1.08 TH ®) 9.89 A
(©) 107.89 UH (0) 1.0002 WH
Page: 9
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() 1: 10* ® 1: 102
© 1: 10 ) 1: 103
- Of the following outer electronic
configurations of atoms, the highest

The energy required to charge a parallel
plate condenser of plate separation d and
plate area of cross-section ‘A’ such that the
uniform electric field between the plate is E,

(A) 1 2 8) 1 2
2 EQE E €q E“ Ad
Ad
© g, E2Ad (D) eoEz
Ad

Acidity of phenol is due to
(A) hydrogen bonding (8) phenolic group
() benzene ring

(D) resonance stabilization of its anion

Two simple harmonic motions of angular
frequency 100 and 1000 rad/sec have the
same displacement amplitude. The ratio of
their maximum acceleration is

oxidation state is achieved by which one of
them ?
(A) (n- 1)d® ns?

9 (n- 1)d® ns?

8) (n- 1)d5, ns?

©) (n- 1)d3, ns?

37.

38.

H TR Uee WHIRE B wel & 4
#® g8 d IR @t @1 PRy BT
AT A & | T MR W e &
fra @1 o fga &F E 491 B |
IR & & o emavad ol Brl -
W 1 E2 o 2 E?Ad
“Ad

© €, E’Ad @) g E?

Ad

(A) BTERIO 99 & BRI

(B) f%feT T4 & IR

© =i R & BRI

©) 3F gAET & IFFAe R &
FHRT

3] IR IEa AT S 100 AR 1000
WA, & srfly il w= @t €
THE e W Ed € | SHe

= @ o9 9 98l saee A=
ITel GRAIY] §RT STy aHRul SaIT
g & SR 2

(A)  (n- 1)d8 ns?

()  (n- 1)d5,ns!?
© (n- 1)d5,ns?

©®)  (n- 1)d3ns?

Page: 10
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39. The wave described by y = 0.25 sin

(10 mx — 2 wt), where x and y are in

metre and t in second, is a wave travelling
along the
(A) +ve x direction with frequency 1 Hz and

wavelength A=0.2m

(8) -ve x direction with amplitude 0.25 m

and wavelength A=0.2m

() +ve x direction with frequency 1 Hz

and wavelength A=0.2m

(D) -ve x direction with frequency 1 Hz

40. Complete the following reaction :

P, +NaOH +H,0 —> ?
(A) PH; + Na,HPO,
(8) PH; + NaH,PO,

(© HsPO, + NaO (® PH; + Na,PO,

41. A particle of mass 1 mg has the same

wavelength as an electron moving with a
velocity of 3 x 10¢ ms—*. The velocity of

the particle is
(Mass of electron= 9.1 x 103! kg)

A 27 x 107¥8ms™?
8) 9 x 10 2ms™?
© 3 x 10 3ms™?

@ 27 x 107%'ms™?

39

41.

Wﬁ[w_'g‘-y=0.255in i
(10 Tx — 2 mt), ¥4 y Ty WX H

T oTHE t A, § | g A TR R
w e
() gD o feem ¥, gy 1 gcol T

JaTeEd ) = 0.2 .

(®) ForE® o faem ¥, W™ 0.25 A

(© greS o fewm ¥, amgRy o 'S a
(0) HoTHS » faem F Fm IMGRT 1 B

- f= aifafear ot iR

P, +NaOH +H,0 — ?

(A PH; + Na,HPO,

8  PH; + NaH,PO,

(©  H,PO, + NaO

(®)  PH; + Na,PO,

1 mg A & TH $U B ACRA B
T 3 X 100 @ F 9T W T

A g goldgE & §¥E} B | B Bl
T BRI
EARE B FEEE =

9.1 x 10731 kg)
(A) 27 x 107 8%z

) 9 x 107%#/A
© 3 x 107343

@) 27 x 1072 #AR.

Page: 11
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42

45,

Curie temperatures is the temperature
above which

(A)  Ferromagnetic material becomes
diamagnetic material

(8)  Ferromagnetic material becomes
paramagnetic material

(@ Paramagnetic material becomes
ferromagnetic material

(0)  Paramagnetic  material becomes
diamagnetic material

The reaction

C
CH.CN + 4H Na/G¥0H

CH;CH, NH, is known as
{A) Hoffmann’s bromamide reaction
(8) Mendius reaction

(€) Parkin’'sreaction (D) Sabatier reaction

Two thin lenses of focal length ’f,” and ’f,’

are in contact and co-axial. The power of the
combination is

(A) {f— B fi+ £,
2 2
Vi
© (f;+ £) (D) £
TR 1
fl * f2 j;

Which of the following is a measurement of
water pollution ?

42,

43,

45.

W

A Negada gerd, aRTaEE  gEe

g4 wrar € |

® egaern gee, IFLED  garet

g oirem & |

(©)  IJFTEDE erd, fEgEdm  garef

q wrar # |
(©) gy yard, virgraaa aard qw
e € |
JfWfFAT  CH,CN + 4H

CH;CH,NH, ®&ardl &
(A) BT SETSS SIffRaT
®) Afew srfifear
(© ufd= sffman
(D) JafeR st
7T g BHd iﬁ'ﬂ’ff & ar

Tdel o AT W W IS g T | oW
I P ufed (IrER) Bt

(A) (B) fi +
= 2
\/;1
o H+15H) (D) f
T T 1
f1 ‘ fz Jg

7 & & a1 w1 S wguer @ Har
87

Na/C,HsOH
_

(A) BOD (B) PSC (A) BOD (B) psC
(© CcoD (o) PCB © cobp (®) pCB
Pagg: 12
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47

48,

The pH of 10°'® M NaOH solution is
nearest to

(A) 4 (B8) 7

€ —4 © —10

The root mean square velocity of a gas is
doubled when the absolute temperature is
(A) increased four times

(8) increased two times
{©) reduced to half

(D) reduced to one fourth

The half life period of a first order process is
1.6 min. It will be 90% complete in
(A) 10.6 min (B) 43.3 min
(€) 5.3 min (D) 99.7 min

A nucleus I:X emits one o — particle and

two B~ particles. The resulting nucleus is

after emission

(A m— 6y (B m-— 6y
n—4 n
© m-—4y (D) m—4X
n n—2
A mass of diatomic gas (y =1.4) at a

pressure 2 atm is compressed adiabatically
so that its temperature rise from 27 °C to

46

47.

48.

49,

50.

10 NaOH fdegw &1 pH#A

ST BT
(A) 4 (8) 7
() —il] (D) -10

ot 1 & af ga wem 47 (rms)
g 8, 99 R &1 9| argEE

(A) 9R TEAT G |

(8) TY AT €37 |

(© 3wy fFar SR |

(0) T =g BN |
HoH dife @ AW &1 g Saadra

1.6 e & | foan 9w # a8 90% gOf
BRI 2

(A 10.6 e (B) 43.3 fiFe

(© 53 e (D) 99.7 fAse
TH NS r:xtﬁﬁ o — oy AT A
B ow SN BXAT € | SEOE b

TR NG B

(A) m-ﬁX (B) m—6x

n—4 n

(c) m—4x (D) m—4x

n n—2
[CRAGI S (y=14) % &

THAF B GES UHH A 2 atm &
g9 9 9Hiifed fdar wmar @, 99 e

927 °C. The pressure of the gas in final state A9 §GH 27°C W 927 °C ® WGl
(A) 8 atm (8) 68.7 atm g | afaw Rafa & w7 &1 g9 B
(©) 256 atm (D) 28 atm (A) 8 atm (8) 68.7 atm
(€ 256 atm (D) 28 atm
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51

SECTION - 1l
BIOLOGY

In angiosperms, microsporogenesis and
megasporogenesis

(A) Occur in ovule (8) Involve meiosis

() Form gametes without further division

(D) Occur in anther

Filiform apparatus is a characteristic feature
of
(A) Zygote

(©) Egg

(B) Synergid

(D) Suspensor

Transpiration and root pressure cause water
to rise in plants by

(A) pulling and pushing it respectively

(8) pushing and pulling it respectively

(©) pulling it upward (D) pushing it upward

. The process of RNA interference has been

used in the development of plant resistant
to
(A) Insects

(©) Nematodes

(B) Fungi

(D) Viruses

Fruit and leaf drop at early stages can be
prevented by the application of

51.

52.

53.

55.

Qg - II
Siq_fasm

agadeh uredl F  agdiaeET SR
OIS
(A) drerre F Brar ¥ |

(8) e favrer g1 € € |
© fer o RwoM & gWe a9 2 |

(0) WPy F BT ¥ |

fpfier ITBRYT TS THE ANAHT B
(A) HTS BT

(B) {EM® HIRDI Bl

(© 3oE HT (D) ferad &1

qrecESH SR Hoel, Wedl H ol @
Y Ferd © ?

(A) T PHEE GHAdY AR TIBI ThR

(B) T HHI HHRPI qBHY AR WA

O T FW P AR Gasx

(P) IY FW P AR GFDT AN

frefafas ¥ @ s o yfoRel gl
¥ fderT ¥ RNA TR & ufshar
BT JANT fHar < |1 8 2

(A FHe (B) Ha®

(c) ﬁﬁaﬁ:ﬁq (D) fargroy

B IR TR F WG qd HSd @l
foad STANT gRT AHT ST AHT & ?

(A) Auxins (B) Ethylene (A) SHifRTT (8) gRyehT
(0) Gibberellicacid (P) Cytokinins © ReRfers v (D) AT
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Which one of the following may require
pollinators, but is genetically similar to
autogamy ?

(A) Geitonogamy (B) Xenogamy

(©) Cleistogamy (D) Apogamy

57
matched ?
(A) Onion - Bulb

(€) Chlamydomonas - Conidia

(B) Ginger - Sucker

(D) Yeast - Zoospores

. Which one of the following is not a bio-
fertilizer ?

(A) Rhizobium (B) Agrobacterium

(©) Mycorrhiza (D) Nostoc

- A normal-visioned man whaose father was
colourblind, married a woman whose father
was also colourblind. They have their first
child as a daughter. What are the chances
that this child would be colourblind ?

(A) 25% (8) 0%

(© 100% (D) 50%

. The function of leghaemoglobin in the root
nodules of legumes is
(A) Inhibition of nitrogenase activity

(B) Expression of ‘nif’ gene
(©) Oxygen removal
(D) Nodule differentiation

- Removal of introns and joining of exons in a
defined order during transcription is called

Which one of the following is correctly|:

s frafafeg § O o wEvEE @

58.

58.

61.

IAHAT B T 8§, W] e
anqdfmar & waE g & 2

(A) FrorTerged) G=TToT
(8) wRffrde

(© Jg=freg axror (D) SOYTH
frer & @ 3 yifera € 2

(A) @S - oG

(B) JexF - =T YW

(© FAHZSHART - DHIfSAT
©) fie - g

fr=fales & &4 &9 e 99 IR @l

TH G & w9 H TS T W B
T | 39 g & quie B @ fean
TG B 2

(A 25% ) I vfer

(© 100% (P) 50%

Tl Uedl W Ws  uRu@Ri H
TR & e ®

(A) g fbar &1 deaA

®) fw Sib @ i

(€ IFfRfoE T g™

) TfRrpr faves

IIeEd & aRM Te fRed wW #
o B A td TR & WisA

(A) Looping (8) Inducing P HEd &
(©) Splicing (D) Slicing (A) F-jﬂ"T (8) W
© wrgRi D) wATgRE
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62.

65.

Which of the following joints would allow no

movement ?
(A) Fibrous joint (B) Cartilaginous
(©) Synovial joint

(D) Ball and socket joint

Which one of the following helps in

absorption of phosphorus from soil by plants
?

(A) Glomus

(€) Rhizobium

(B) Frankia

(D) Anabaena

The chromosomes in which centromere is
situated close to one end are
(A) telocentric (B) acrocentric

(€) metacentric (D) sub-metacentric

To obtain virus-free healthy plants from a
diseased one by tissue culture technique,
which part/parts of the diseased plant will
be taken ?

(A) Palisade parenchyma

(8) Both apical and axillary meristems

(€) Apical meristem only

(D) Epidermis only

Commonly used vectors for human genome

sequencing are
(A) T-DNA

(C) Expression Vectors
(D) T/A Cloning Vectors

(8) BAC and YAC

62 fforRag 7 9 &9 @ ofvg faedt vor
o 1Y Y sFERy = S 2
() WerR g (8) IuiRers af¥y
© arEifege afa
@) HgH-Efeadr AT (@ld AR JAlde
rS)

6. = § ¥ B dEl gRT YaT ¥ BRGRYA
F AGINEOT H FErFAT T & 2

(A) TEg (8) i
© IgofIas (D) T
4 TRE, O TRE Rg @ R %
W@m%ﬁmww%?
(A) =t (B) 3=l
(© Tegdh= (D) IY-FegH—!

65 Had Uadd dHNe ERT M UEy
faue e gRdl B oua wxE ®
ford Ift urgw & fw wrARY @Y foram
SR 2

(A) Uefds Reprgar
®) fi IR Iy RAvies <=7 &
@ Fad M RAysaas
(0) FHaa IR
% AMT SIHM IHH & o amdR W

Tgd ddex &
(A) T-DNA

®) Ly iR arg v,
© I daex
@) T/A FNfET daex

MR
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67

69.

70.

.

The DNA molecule to which the gene of
interest is integrated for cloning is called
(A) Template (B) Carrier

(€) Vector (D) Transformer

An example of edible underground stem is
(A) Groundnut (B) Potato

(€) Carrot (D) Sweet potato

DNA fragments are

(A) Either positively or negatively charged
depending on their size.

(8) Neutral

(c) Negatively charged

(D) Positively charged

Arteries are best defined as the vessels

which

(A) break up into capillaries which reunite to
form a vein.

(8) carry blood away from the heart to
different organs.

(€) carry blood from one visceral organ to
another visceral organs.

(D) supply oxygenated blood to the different
organs.

In Hardy-Weinberg equation, the frequency
of heterozygous individual is represented by
(A) q2 (8) pg

(€) 2pg (O) p?

67.

68.

69.

70

71.

SH QAT I P W FEd g, forH

FAET ¥ ford Bfy dell S @l
TS ferd e SIar & 2

(A) wHyer (8) gqED

© Hared (D) FHYT=RD

T Arg T @ $T TS I&TER0T DI
e ?

(R) FThett (8) 37Te]

(© eR (D) IHREH=<I

AT F TS B B B ?

(A) F IO JAER & ATIAR GHHD Al
HUTHE & 9Hd © |

(8) ITRIA

(O ZHoTcHE IMARK

(0) g9 P [l

qafEr Ot afReel $ w9 W |arH
TR A IRERAT @ S TH B, I
(A FR@E § RAafa & ordt & aen
e gr1 BRT &1 fEfor St @
B TR H g3y W A= 3 98 «
S £

© TP ST I F G IR M A
SR of el |

©) A= 3 9% SiRive g SRR
g HeH ¥ |

eeiHAeT e § Rymgesh afe
P yrafisar a1 fAeuor ey 8ar € 2
(A) q2 (Blpq

(@ 2pgq ®)  p?

AR
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72.

74

75.

Widal test is carried out to test
(A) Diabetes mellitus (B) Malaria

(© HIV/AIDS (D) Typhoid fever

The term ‘Polyadelphous’ is related to
(A) Corolla (8) Gynoecium

(©) Androecium (D) Calyx

When two unrelated individuals or lines are
crossed, the performance of F, hybrid is

often superior to both its parents. This
phenomenon is called

(A) Transformation (B) Heterosis

() Splicing (D) Metamorphosis
Which one of the following have the highest
number of species in nature ?

(A) Fungi (B) Birds

(©) Angiosperms (D) Insects

Which one of the following statement is
correct ?

(A) In tomoto, fruit is capsule.

(B) Seeds of orchids have oil-rich

endosperm.
(©) Flower of tulip is a modified shoot.

(D) Placentation in primrose is basal.

Which of the following are not membrane
bound ?

(A) Vacuoles (B) Mesosomes

(©) Lysosomes (D) Ribosomes

n fPrefRes § feodl o9 dq Re

73.

74,

75.

76.

7.

el fear Sirar € 2

(A) grafddts AdTgeH

(8) HAfRar

(© gg.ams.dl/geu (0 SABES S6)

gl 95 fHuw wafa @ 2

(A) FeTqs (8) ST

(©) g (D) qrErIgeTys

9q Q7 SRTEfT Sfiidl rdqr ARET @1
GHRUT BT W1 €, A F, WHY (9

SR ¥ e TOEdT qid B 2 | g8
gRYueT Hedrl &
(A) wyr=RoT

(©) TeTshi
vofa § Fr=foled § 4 feaar waifte
Sferat ardt STt @ 2

(A) Hadh (8) ueft

(G CSETR) (D) @wie

= 39 P9 A FUF GE § 2

(A) ESHICY &1 Bl Y& TS Bl & |

B srfhew & S F JI-UTR Yo
T wrar € |

(O =fay &1 I T& HUraRd IRIE ?
I

O RS d§ I fSve R
SIGHE

1 & B9 el o 78 R = 2

(A) et

(8) WegdTy (Hiiram)

(© wrzaRa (0) rgariN

N0

Page: 18



78

81.

Which of the following viruses is not
transferred through semen of an infected
male ?

(A) Hepatitis-B virus

(8) Human immunodeficiency virus

(c) Chikungunya virus (D) Ebola virus

Flowers are zygomorphic in
(A) Tomato (8) Gulmohur

(€) Mustard (D) Datura

The cyanobacteria are also referred to as

(A) Golden algae (B) Blue-green algae

(C) Slime moulds (D) Protists

Which of the following is made up of dead
cells ?

(A) Xylem parenchyma

(8) Collenchyma

(€) Phellem (D) Phloem

Forelimbs of cat, lizard used in walking,
forelimbs of whale used in swimming and
forelimbs of bats used in flying are an
example of

(A) Analogous organs (B) Adaptive radiation
(© Homologous organs

(D) Convergent evolution

The process of separation and purification of
expressed protein before marketing is called
(A) Upstream processing

(8) Downstream processing
(C) Bio processing

(D) Post production processing

78

79.

80.

81.

82,

frefoRes & & o9 W Rwpra @
R & it grr vl =& ear ¢ 2

() giergfewr B-aravw

8) A SREARARIE arara

© Ry aaw

0) ZAT IR

TP AR AT Q9 91 ST §

(A) zHTeR ¥ (8) TR H

€ WA § (©) g #
ARANEIRAT P Hel ol &

W) e a6 Aeftwd dara
© ¥EE desa (D) wifewRwT
frafofaa # & @9 3a dIR@ET B
&1 BT § ?

(A) ST Hgdd
(©

(B) XeeT DIV
(0) Yyare

il 3R foUBel & [T T, =
& IUT oRA IR THNES & IS
Jed & o B9 € 3 fhad SarEvv ®

?
(A) Jmgfm s (B) 3rgeett fafdswor
(€ |HS 3T D) FA faer™

IR ¥ 99 ¥ UBd, Aferdd Wi &

QIFHROT AR YEHIOT B uhkAr B Fm
HE o1l § ?

(A) gfimarg gHHu
(8) JaTe WshHvl
(© g HHAT

(0) 9T IAIGT WHHUT

FIIIlII“II\I
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B7.

A human female with Turner’s syndrome
(A) has 45 chromosomes with XO.

(8) has one additional X-chromosome.

(€) is able to produce children with normal
husband.

(D) exhibits male character.

The eyes of potato tuber are
(A) Root buds (8) Shoot buds

(©) Flower buds (D) Axillary buds

Medical Termination of Pregnancy (MTP) is
considered safe upto how many weeks of
pregnancy ?
(A) Six weeks

() Eight weeks

(8) Twelve weeks

(D) Eighteen weeks

An organic substance that can withstand
environmental extremes and cannot be
degraded by an enzyme is

(A) Cuticle (B) Cellulose

(€) Sporopollenin (D) Lignin

Flowers, which have single ovule in the
ovary and are packed into inflorescence are
usually pollinated by
(A) Bat

(C) Bee

(8) Wind
(D) Water

Which one of the following pairs of gases
are the major cause of ‘Greenhouse effect’ ?

(A) COZ and 03 (8) COZ and CO

85.

87.

89.

TF A o) R Rigm @ T ®

(A) I 45 OREF XO & WA ¢ |

8) I TH AP X-REF © |

© we w9y & WY g2 Y&1 AR
TFHd B |

(0) g8 X & A& gt & |

A & b= H S BN E
(M) 7 Brdy (B RE BT
© g9 ey (0) FERT Blerdy

Tigwnr & fhaq w96 fRfeca
HfeRr WHGT ((MTP) &1 QRf&a &1
SiTeT § ?

(A) Bg gwE db
(€) 36 IA«E db
(D) 3YCSRE AWE IH

faforRag § 4 @9 Us Efed g
£ S qrara}e o = favw aRRerfaar
T A gpar & T fHA W TargH
ERT Iggfed w8l BT & ?

W) TR () Vegeire
(©) R (D) forfqs

4 qu, R svere # U NS B
%mﬁwwﬁégﬁm T,

(B) 9RE O<E dH

AT fead g’ wWifig B § 2
(A) TS (B) arg
(©) HgARE (P) et

b & fafafea @ & 9 oF
BRITE JUIT & T SR & ?
(A)

Co, @ 0,
(C} C02 and NZO {D} CFCS and C02 {B} CO aw.l. CO
2
tc] C02 aﬁ“ Nzo
©  crc T o,
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2. If two persons with ‘AB’ blood group marry
and have sufficiently large number of
children, these children could be classified
as ‘A’ blood group in 1: 2 : 1 ratio. Modern
technique of protein electrophoresis reveals
presence of both ‘A’ and ‘B’ type proteins in
‘AB’ blood group individuals. This is an
example of
(A) Codominance

(8) Incomplete dominance
(€) Partial dominance

(0) Complete dominance

Double fertilization is exhibited by

(A) Gymnosperms (B) Angiosperm
(€) Algae (D) Fungi

Root pressure develops due to
(A) Active absorption

(B) Low osmotic potential in soil
(€) Passive absorption

(D) Increase in transpiration

Blood pressure in the mammalian aorta is
maximum during
(A) diastole of the right atrium

(8) systole of the left atrium
(©) diastole of the right ventricle

(D) systole of the left ventricle

%. In ginger vegetative propagation occurs
through
(A) Bulbills (B) Rhizome
() Offsets (D) Runners

90.

91.

92.

IR AR BRR WE qad & Afd
fafRa @@ & AR o wia fawma
@ ¥ qw B € 3 4wl B W
qififpa fbar s wdar € | A SRR e,
B SRR WE H1:2:1F IJqUE H |
WA IARIGRRART @ AEfAF dHD
U g 8 & 5 A 3R B TPR &
WeE e @ AR SRR W afedl #
feme 8 | I8 STERUT 0B

(A) TEgHIfdaT &1

®) el sl 1

(© e wwrfaar &1

(©) guf wrfaar &1
fefas fewe gm weRia fear <mar

&7
(A) TS (B) 3gaidtsit
(D) HdH

(© SqreT
Terqrd feuat aoe o {aRa 8 € 2
(A) afthg TNV & BRI

®) 7T § 9 WOt fina & SR
(© fAfdpa sgeiye & SR

(©) oS A 931 & HROT

. TR B HETHE § SR g1 few

gfifsear & SR |9 IJIRF B © 2
W g srfeis & ARG & <RM
®) q 3ffeig & TP & IR
© TR Fog & IR & <R
@ I fdd & ugad & IRE

- IEF § FI® goAE fPad gRT B

g7
(A) gFFSHicTdT ERT (B) Y= gRI

© Y& &R (0) IURYE R

i
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95. Which part of the human ear plays no role in

hearing as such but is otherwise very much
required ?

(A) Eustachian tube (8) Organ of corti
(€) Vestibular apparatus

(D) Ear ossicles

I

9. The incorrect statement with regard to|%.
haemophilia is YT ©
(A) A single protein involved in the clottingof | (A SR & IgbT 99 H TP Udd
blood is affected. U1 gHIfad Bt ® |
(B) It is a recessive disease. (B) Jg UPH IJWHId AT
(©) Itis a sex-linked disease. (© 7g go foivT Agea™™ AT 7 |
(D) It is a dominant disease. (©) g TH gt 2T 7 |
97. Which is the most common mechanism of | 97. il Y99 dId Sild & S99 §
genetic variation in the population of a| argdRe =T 1 WA A UHH
sexually reproducing organism ? R A Y s A1 § 2
(A) Transduction (A) gRHHOT (B) TR fdus
() Chromosomal aberrations © JERE fage=
(€) Genetic drift (D) Recombination (0) g
9. Which one of the following is not applicable | . fmfoiRad 3 & @9 A RNA W oY
to RNA ? 8l Bl ?
(A) Heterocyclic nitrogenous bases (A) vy 9@y TIgeroE o
(8) 5' phosphoryl and 3" hydroxyl ends ) 5 BRPIRA AR 3' EESFad RR
(€) Chargaff's rule € aRIMe &1 99
(0) Complementary base pairing (D) TR a9 RILLE
99. The label of a herbarium sheet does not|%. Qreuidy 95 & dMuy & f=fofRag & 9
carry information on B W I sifea TE e 2
(A) Local names (B) Height of plant (A) T 9™ (8) O &I SHaATS
(€) Name of collector (D) Date of collection (€ Hugdhdl &1 AH
O) JHyE 3 g
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100 Transformation was discovered by
(A) Meselson and Stahl

(8) Hershey and Chase
(©) Griffith (D) Watson and Crick

100 HYRY F @ [ B ?
A T IR WA

® T IR I9
© e
©) gecET AR 5

MY
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